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DEO MAIN – 2023 

PROBABILITY ASSIGNMENT 
 

1. Two dice are rolled, find the probability that the sum is    
i. equal to 1  ii. equal to 4 iii. less than 13 

 ,U gfilfs; cUl;lg;gLk; NghJ fpilf;Fk; vz;fspd;  
 $Ljy;  
 i. 1-f;Fr; rkkhf  ii. 4-f;Fr; rkkhf   

iii. 13-I tplr; rpwpajhf ,Ug;gjw;fhd epfo;jfTfis fhz;f.  
 

2. In a class of 35, students are numbered from 1 to 35. The ratio of boys to 
girls is 4:3. The roll numbers of students begin with boys and end with girls. 
Find the probability that a student selected is either a boy with prime roll 
number or a girl with composite roll number or an even roll number.  
35 khzth;fs; cs;s xU tFg;gpy; xt;nthUtUf;Fk; 1 Kjy; 35 tiu 
vz;fs; nfhLf;fg;gl;Ls;sd. khzth;fSf;Fk; khztpfSf;Fk; cs;s 
tpfpjkhdJ 4 : 3 MFk;. thpir vz;fs; khzth;fspy; njhlq;fp khztpfspy; 
KbtilfpwJ. xUth; tFg;gpypUe;J Njh;e;njLf;fg;gLfpwhh;. mth; gfh 
vz;iz thpir vz;zhff; nfhz;l khztuhfNth my;yJ gF vz;iz 
thpir vz;zhff; nfhz;l khztpahfNth my;yJ ,ul;il vz;iz thpir 
vz;zhff; nfhz;ltuhfNth ,Ug;gjw;fhd epfo;jfitf; fhz;f.  

 
3. The following table gives the lifetime of 500 CFL lamps. 

Life time (months)  9 10 11 12 13 14 more than 14 

Number of Lamps  26 71 82 102 89 77 53 

 A bulb is selected at random. Find the probability that the life time of the 
 selected bulb  is 
 (i) less than 12 months    (ii) more than 14 months 

 (iii) at most 12 months    (iv) at least 13 months 
 500 rpW #oy; tpsf;Ffspd; tho;ehs; tptuk; fPNo jug;gl;Ls;sd.  
  

tho;ehs; (khjq;fspy;) 9 10 11 12 13 14 14I tpl mjpfk; 

tpsf;Ffspd; 
vz;zpf;if 

26 71 82 102 89 77 53 

 xU rpW#oy; tpsf;F Njh;e;njLf;Fk;NghJ> fPo;f;fhZk; tho;ehs; 
 gad;ghl;bw;fhd  epfo;jftpidf; fhz;f.  
 i. 12 khjq;fSf;Ff; Fiwthf   ii. 14 khjq;fSf;F mjpfkhf  
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 iii. mjpfgl;rk; 12 khjq;fs;    iv. Fiwe;jgl;rk; 13 khjq;fs;  
 

4. From a well shuffled pack of 52 playing cards, one card is drawn at random. 
Find the probability of getting 

 (i) a king      (ii) a black king 
 (iii) a spade card     (iv) a diamond 10. 
 ed;F fiyj;J itf;fg;gl;l 52 rPl;Lfisf; nfhz;ll rPl;Lf; fl;bypUe;J 
 rktha;g;Gr; Nrhjid Kiwapy; xU rPl;L vLf;fg;gLfpwJ. me;jr; rPl;L 
 gpd;tUtdthf ,Uf;f epfo;jfTfisf; fhz;f.  
 i. ,uhrh   ii. fUg;G ,uhrh iii. ];NgL  iv. lakz;l; 10  
 

5. Each individual letter of the word “ACCOMMODATION” is written in a 
piece of paper, and all 13 pieces of papers are placed in a jar. If one piece of 
paper is selected at random from the jar, find the probability that 

 (i) the letter ‘A’ or ‘O’ is selected. 
 (ii) the letter ‘M’ or ‘C’ is selected. 

"ACCOMMODATION" vd;w nrhy;ypd; xt;nthU vOj;Jk; jdpj;jdpNa 
rpwpa fhfpjq;fspy; vOjg;gl;L> me;j 13 rpwpa fhfpjq;fSk; xU Kfitapy; 
itf;fg;gl;Ls;sd. rktha;g;G Kiwapy; KfitapypUe;J xU fhfpjj;ijj; 
Njh;T nra;Ak; NghJ> mjpy; ,lk; ngWk; vOj;J  

 i. 'A" my;yJ 'O' MfNth 
 ii. 'M' my;yJ 'C' MfNth ,Ug;gjw;fhd epfo;jfTfisf; fhz;f.  
 

6. Given that P(A) = 0.52, P(B) = 0.43, and P(A B) = 0.24, find  
(i) P(A   B )   ii. P(A B)  iii. ( )P A B   iv. ( )P A B  

P(A) = 0.52, P(B) = 0.43,  kw;Wk; P(A B) = 0.24,  vdpy;  
(i) P(A   B )   ii. P(A B)  iii. ( )P A B   iv. ( )P A B  

  
7. Two customers Priya and Amuthan are visiting a particular shop in the 

same week (Monday to Saturday). Each is equally likely to visit the shop on 
any one day as on another day. What is the probability that both will visit 
the shop on (i) the same day   (ii) different days (iii) consecutive days? 
,uz;L Efh;Nthh;fs;> gphpah kw;Wk; mKjd; xU Fwpg;gpl;l mq;fhbf;F> 
Fwpg;gpl;l thuj;jpy; (jpq;fs; Kjy; rdp tiu) nry;fpwhh;fs;. mth;fs; 
mq;fhbf;Fr; rktha;g;G Kiwapy; xt;nthU ehSk; nry;fpwhh;fs;. ,UtUk; 
mq;fhbf;F (i) xU ehspy; (ii) ntt;NtW ehl;fspy; (iii) mLj;jLj;j 
ehl;fspy; nry;tjw;fhd epfo;jfTfisf; fhz;f.  

 
8. If A, B, C are any three events such that probability of B is twice as that of 

probability of A and probability of C is thrice as that of probability of A and 
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if P(A  B) = 
1

6
, P(B  C) = 

1

4
, P(A  C) = 

1

8
, P(A B C) = 

9

10
 and , then 

find and P(A B C) = 
1

15
, then find P(A), P(B) and P(C) ?  

A, B, C vd;gd VNjDk; %d;W epfo;r;rpfs; NkYk; B fpilg;gjw;fhd 
epfo;jfT A – d; epfo;jfitg; Nghy ,Uklq;fhfTk;> C fpilg;gjw;fhd 

epfo;jfT A – I tpl %d;W klq;fhfTk; cs;sd. NkYk; P(A  B) = 
1

6
, 

P(B  C) = 
1

4
, P(A  C) = 

1

8
, P(A B C) = 

9

10
, P(A B C) = 

1

15
, vdpy;> 

P(A), P(B) kw;Wk; P(C) If; fhz;f?  
 

9. An urn contains 5 red and 7 green balls. Another urn contains 6 red and 9 
green balls. If a ball is drawn from any one of the two urns, find the 
probability that the ball drawn is green.  

 xU nfhs;fydpy; 5 rptg;G> 7 gr;ir epw ge;Jfs; cs;sd.  kw;nwhU 
 nfhs;fydpy; 6 rptg;G> 9 gr;ir epw ge;Jfs; cs;sd.  xU ge;J 
 VNjDk; xU nfhs;fyDf;Fs; vLf;fg;gl;L> mJ gr;ir epwg; ge;jhf 
 ,Ug;gjw;fhd epfo;j;jfitf; fz;Lgpb. 

 
10. A multiple choice examination has ten questions, each question has four 

distractors with exactly one correct answer. Suppose a student answers by 
guessing and if X denotes the number of correct answers, find  
(i) binomial distribution  
(ii) probability that the student will get seven correct answers 

 (iii) the probability of getting at least one correct answer. 
 gj;J tpdhf;fs; nfhz;l Xh; gy;tha;g;Gj; Njh;tpy;> xt;nthU tpdhtpw;Fk; 
 ehd;F ftdr;  rpjwy; tpilfspy; xd;W rhpahd tpilahFk;. Cfj;jpd; 
 mbg;gilapy; xU khzth;  tpilaspf;fpwhh; vd;f. rhpahd tpilfspd; 
 vz;zpf;ifia X Fwpf;fpwJ. vdpy;>  
 (i) <UWg;G guty;  
 (ii) khzth; VO rhpahd tpilfs; mspg;gjw;fhd epfo;jfT  
 (iii) Fiwe;jgl;rk; xU tpil rhpahdjhf ,Uf;f epfo;jfT 
 Mfpatw;iwf; fhz;f.   
 
11. The probability that a new car will get an award for its design is 0.25, the 

probability that it will get an award for efficient use of fuel is 0.35 and the 
probability that it will get both the awards is 0.15. Find the probability that 

 (i) it will get at least one of the two awards 
 (ii) it will get only one of the awards. 
 xU Gjpa kfpo;Te;J (car) mjDila tbtikg;gpw;fhf tpUJ ngWk; 
 epfo;jfT 0.25 vd;f. rpwe;j Kiwapy; vhpnghUs; gad;ghl;bw;fhd tpUJ 
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 ngWk; epfo;jfT 0.35 kw;Wk; ,U tpUJfSk; ngWtjw;fhd epfo;jfT 
 0.15 vdpy;> mk;kfpo;Te;J  
 i. Fiwe;jJ VjhtJ xU tpUJ ngWjy;  
 ii. xNu xU tpUJ kl;Lk; ngWjy; Mfpa epfo;r;rpfSf;fhd 
 epfo;jfTfisf; fhz;f.  
 
12. In a school of 4000 students, 2000 know French, 3000 know Tamil and 500 

know Hindi, 1500 know French and Tamil, 300 know French and Hindi, 200 
know Tamil and Hindi and 50 know all the three languages.              
(i) How many do not know any of the three languages?             
(ii) How many know at least one language?            
(iii) How many know only two languages? 
4000 khzth;fs; gapYk; xU gs;spapy;> 2000 NgUf;F gpnuQ;R> 3000 
NgUf;Fj; jkpo; kw;Wk; 500 NgUf:F ,e;jp njhpAk;. NkYk; 1500 NgUf;F 
gpnuQ;R kw;Wk; jkpo;> 300 NgUf;F gpnuQ;R kw;Wk; ,e;jp> 200 NgUf;F jkpo; 
kw;Wk; ,e;jp> 50 NgUf;F ,k;%d;W nkhopfSk; njhpAk; vdpy;> 
gpd;tUtdtw;iwf; fhz;f.  
i. %d;W nkhopfSk; njhpahjth;fspd; vz;zpf;if  
ii. VNjDk; xU nkhopahtJ njhpe;jth;fspd; vz;zpf;if  
iii. ,U nkhopfs; kl;LNk njhpe;jth;fspd; vz;zpf;if  

 
13. A company manufactures 10000 Laptops in 6 months.  In that 25 of them are 

found to be defective.  When you choose one Laptop from the 
manufactured, what is the probability that selected Laptop is a good one? 
xU epWtdk; MW khjj;jpy; 10000 kbf;fzpdpfis cw;gj;jp nra;jJ. 
mtw;wpy; 25 kbf;fzpdpfs; FiwghL ciladthff; fz;lwpag;gl;ld. 
rktha;g;G Kiwapy; xU kbf;fzpdpiaj; Nju;e;njLf;Fk;NghJ mJ 
Fiwghby;yhjjhf ,Uf;f epfo;jfT ahJ? 

 
14. If a probability of a player winning a particular tennis match is 0.72.  What is 

the probability of the player loosing the match? 
xU tupg;ge;J (tennis) tpisahl;L tPuu; xU Fwpg;gpl;l Ml;lj;jpy; ntw;wp 
ngWtjw;fhd epfo;jfT 0.72 vdpy; mtu; me;j tpisahl;by; 
Njhy;tpailtjw;fhd epfo;jfT vd;d? 

 
15. A bag contains 5 white and some black balls. If the probability of drawing a 

black ball from the bag is twice the probability of drawing a white ball then 
find the number of black balls.  
xU igapy; 5 nts;is kw;Wk; rpy fUg;G ge;Jfs; cs;sd. igapypUe;J 
fUg;G ge;J fpilg;gjw;fhd epfo;jfthdJ nts;isg; ge;J fpilg;gjw;fhd 
epfo;jfitg;Nghy; ,U klq;F vdpy;> fUg;Gg; ge;Jfspd; vz;zpf;ifiaf; 
fhz;f.  

 


